
Fill in the table, using the growth model:
A. For each entry in the table, calculate 

€ 

(1− x)4x  where x is the previous entry.  Round all numbers
to 5 decimal places.
B. For each entry in the table, calculate 

€ 

(1− x)4x  where x is the previous entry.  Round all numbers
to 3 decimal places.
C. For each entry in the table, calculate 

€ 

(1− x)3.5x  where x is the previous entry.  Round all numbers
to 5 decimal places.
D. For each entry in the table, calculate 

€ 

(1− x)3.5x  where x is the previous entry.  Round all numbers
to 3 decimal places.

A A B C C D
.245 .246 .245 .245 .246 .245


